~

Q)
— ~ — -
| [ A4 # % @ | E é - Ny A3 % %
K HOTHhEERR .{@ IFL¥— 856 keal ,‘W 4 ™ *I4va 754 IRLE— 850 keal
-hERYEDE — |=ax 30 g % - AT E EeH 299 ¢
; NV T— - 276 g 2 | B "‘{; = |"BYVERE -4 21 g
= = 53 34¢g . HFRIBYS45 4 27¢g
HOTH—ER E—=UBRAMA
*FEFUREHRES . THLF¥— 907 keal . 42 *AOaEaH @ . TRLE— 831 keal
RALDED = |=ax 32g KEhThE = ”L ELK 297 g
» | Z ["E—=rn&F 5 315 ¢ o1 | % o |-SESEHER 554 224 g
B |.chgys54 A #5 19e B | oY LYHIOYSH s 246
SEDEVNEVFEVTYVE— + ==y
K HOTEXEI 0D Bk & @ THILF— 836 koal *ASDRTRY—R DT J |zRn¥— 835 koal
IMAROBERY Y — |mam  wse 3Tl 10 O D |meam s
s -AFF 5 243 g 2 | A = |-FLn e 253 g
A—TNTFr—% 4 #5 336 B . 285 F4—Y54 s 25 &
RESHEY—
e *HISOE)—RAMIT IHL¥— 810 keal *HrOEEES TIHILE— 806 keal
) 2 " SR A8 e YR N T 1o EaE 305 &
6 | 5 * Ry A 2 | AR A R 2348 2 | & = |-EoEHBFOEYEDD R 29 e
L B |.a—LRO—454 s 286 | B | Ry B R8T — s 25 &
'y}’ HIDYSH ~th#EHS4
*FXUEE - THRL¥— 901 keal *HOTEAL—F51R ’,o‘ THILE— 950 keal
- KROHY P |lgar wss Y HIITA 7 lmem e
. [EZS5ShAERVEFNZ I 333 g 2 X e_RYDIEHZ EE 335 g
IMNARERERA s 33g = = = |&s 38 g
-EREETF >
HOTH=ER
*HOT+—<AhL— l{‘a IRL¥— 908 keal ; t ‘ *EBENESHIT IXILH¥— 874 keal
“FEIHY BAR 303 g # '“ . EREEF @ EaH 315 g
8 FrRYDARDEIEYHR LEd 282¢g 30 | % ; \_ = [OLELY VR  |m= 308 g
&5 18g | BB | oL B A RE— 18 5 26 &
-BHHFIZ
* Rty P IHLF— 898 keal
VLEOHOHER @ AR 256 g
5 -thFETES @ IR 253 g
1B T ORI & < las 296
whA=HS4
*HOTF)Lax g |THRLE— 973 keal
“IEHY EaE w7 202—NF Ry —ERA=2—TH,
- BAEE IR 409 ¢
AVBYF TR w5 e BERBA AT, TTHREX()
KA Z2— DM CERIFBATRECHBULNILIKES
K EERK & j, IHLE— 876 keal Eﬁa):li/ba)ilis
E—TYF— 2 laar w7 P©:170g
i AXEOPEERE IR 243 ¢ I:FI . 24og
ERFLREOEEOY 5 3g - o .
.y K:310g HSOBNET,
(FRREEFNPAELHELUTTY., )
« *BANBBQAY—R THLE— 843 keal
BRIV AR @ EBg 306 g
14 Ok 2 |- RFr54 T |ex 282 g
B |.203unnysni 9 276
HEXLF
*HOTHRHRDEH THLF— 816 keal
"EHEEFENEL BEaRE 261 g
5 INARDETFHA B 2.1 g
2 N—YHE— 155 32¢g
*
*EADD 7, |THRLF¥— 890 keal
FLLYHIED AT @3 EhE 202 g
16 B = |"RTFhSH e 219 g
R BRE 154 24 g
S8 +
*HOTA—/LF ¥ Y IHLF— 917 keal
BUEFXY @ @ EHE 203 g
- MELBEIERE e 33 e
FEIR—FY &5 3g

=, =
HOTH—ER

3




